AIRPRESS ‘ compressoren

TECHNICAL DRAWING
LMO 25-250 REF. NO.: 36862




TECHNICAL DRAWING

AIRPRESS ’ compressoren

LMO 25-250

REF. NO.: 36862

1 Bolt M6x55 12 31 | Connecting pipe 2
2 | Plain cushion ¢6 12 32 | Connects the bend 1
3 Cylinder head 2 33 | Cylinder head plug 1
4 | Airfilter 2 34 | Crash pad 4
5 Seal packing collar 2 35 | Nut M8 4
6 Air admission clamp 2 36 | Bolt M5x15 2
7 Valve piece 4 37 | Capacitance 1
8 | Valve plate subassembly 2 38 | It won't come off 1
9 Exhaust clamp 2 39 | Capacitor housing 1
10 | O circle 2 40 | Release pipe 1
11 | Cylinder 2 41 | Checking valve 1
12 | Piston curl clamp 2 42 | Switch 1
13 | Pistonring 2 43 | Straight through 1
14 | Connecting rod 2 44 | Pressure gauge 940 1
15 | Crankcase 2 45 | Regulate valve 1
16 | Crank bearing 2 46 | Coupler 2
17 | Crank 2 47 | Unloading tube 1
18 | Fan 2 48 | Safety Valve

19 | Elasticring @14 2 49 | Pressure gauge ¢50 1
20 | Gatelid 2 50 | Tank 1
21 | Bolt ST3.3x8 4 51 | Ocircle 24 2
22 | Rotor bearing 2 52 | Plug Up 2
23 | Stator subassembly 1 53 | Footpads 2
24 | Rotor 1 54 | Bolt M5*25 2
25 | Bolt M5x155 4 55 | Power cord 1
26 | Bolt M6x16 2 56 | Foaming wheel ¢200 2
27 | Support Block 2 57 | Flat Pad ¢20 4
28 | Bolt M4x6 2 58 | Split Pin 4
29 | Bolt M4x8 2 59 | Drain Plug 1
30 | O circle Mini type 4

| one brand fits all

2



